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25.	� The statue of Ivan Krunchemup, creator of Crispy 
Krunchy Cereal, stands on top of the Crispy Krunchy 
Factory. There were 84 birds sitting on Ivan’s head. 
When the lunch whistle blew, 55 birds flew away.  
How many birds were left?

84 – 55 = ______
There were ______ birds left.
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26.	� In the finals of the International Hopscotch Championships,  
the New York Yaks scored 301 points. The Philadelphia Fiddlers scored 
195 points. How many more points did the Yaks score than the Fiddlers?

301 – 195 = ___________
The Yaks scored ___________ more points than the Fiddlers.
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27.	� The mice had a convention behind the refrigerator.  
150 mice attended. 64 brought cheese. The rest  
brought crackers. How many mice brought crackers?

150 – 64 = ______
______ mice brought crackers.
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28.	� Frank N. Furter bought 712 hot dogs for his company 
barbecue. He started cooking, but was also watching 
Celebrity Chefs of Saturn on his TV, and ended up 
burning 536 of the hot dogs. How many hot dogs  
did not get burned?

712 – 536 = ___________
___________ hot dogs did not get burned.




